
Answer on Question #44022, Math, Algebra 

1. Determine domain and range of the function:

𝑓(𝑥) = −√−2x + 3 

Determine the domain. To get a real number (-2x + 3) must not be negative: 

−2𝑥 + 3 ≥ 0 

−2𝑥 ≥ −3 

So, the function is defined when: 

𝑥 ≤ 3
2⁄

The domain of the function is: 

𝑥 ∈ (−∞; 3 2⁄ ]

The value of the square root could not be below zero. Thus, the range of the function is: 

𝑓(𝑥) ∈ (−∞; 0) 

2. Determine domain and range of the function:

𝑓(𝑥) = 𝑥2 +
𝑥 + 2

𝑥2 − 𝑥 − 2

Determine the domain: 

𝑥2 − 𝑥 − 2 ≠ 0 

(𝑥 + 1)(𝑥 − 2) ≠ 0 

𝑥 ≠ −1; 𝑥 ≠ 2 

The function has two vertical asymptotes: 𝑥 ≠ −1 and 𝑥 ≠ 2. The domain of the function is: 

𝑥 ∈ (−∞;−1) ∪ (−1; 2) ∪ (2;∞) 

The range of the function is: 

𝑓(𝑥) ∈ (−∞; 0) ∪ (2.37;∞) 
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